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MODEL QUESTIONS

1. Which one of the following

statements 1is not correct

1) Energy of an electron in
hydrogen atom depends only
on principal quantum number

2) With increase in principal
quantum number of an orbital
energy of an electron in that
orbital increases

3) Energy of an electron in 2s
orbital of hydrogen atom is
same as the energy of 2s orbital
electron in Lithium atom.

4) In multi electron atoms energy
of different subshells of a
particular shell is different

1)CH ,MgBr
2)H,0"

)dil. NaOH
2)A

2. P >R

4-methylpent-3-en-2-one. In this
reaction What is P?
1) ethanamine
2) ethanal
3) propanone
4) ethanenitrile
3. In which one of the following
reactions Kharasch effect can be

observed |
1) CH,CH,CH=CH, +HCl —**—

2) CH,CH,—CH=CH,+HBr—t2>
3) CH,CH=CH-CH,+HBr —""—
4) CH,CH=CH~-CH,+HCl—"—

4. The first ionisation enthalpy
values of Na, Mg and silicon are
496, 737 and 786 kJ/mole respe-
ctively. The first ionisation
enthalpy of aluminium is nearly

(in kJ / mole)
1) 825 2) 575
3) 496 4) 786

5. A complex is represented as
CoCl;.xNH,. Its 0.1 m solution
in aqueous solution shows AT, =

0.558° and assume 100% ioniza- |

tion and co-ordination number of

Co(III) is six. What is the com-

plex [K{(H,0) = 1.86 mol~! K]?

1) CoCl;.6NH,

2) CoCl;.5NH;, 3) CoCl;.4NH,

4) CoCl;.3NH,

The statement that is

correct 1s

1) Wroght iron is the purest form
of commercial iron

2) Copper from its low grade
ores is extracted by hydrom-
etallurgy

3) NaCN can be used as a
depressant in froth flotation
technique

4) Collectors enhance the wetta-
bility of mineral particles
during froth flotation

Match list I with list II and select

the correct answer:

List I

(A) Coagulation

(B) Dialysis

(C) Peptization

(D) Tyndall effect

List 11

(p) Scattering of light

(q) Preparation of colloid

(r) Purification of colloids

(s) Electrolyte

1) (A)—(p); (B)—(q); (CO)— (1);
(D)= (s)

2) (A)—=(p); (B)=(p); (C)—(q);
(D)—(s)

3) (A)—(s); (B)—(1); (CO)—(q);
(D)—(p)

4) (A)—(1); (B)—(s); (C)—(p);
(D)—(q)

Identify Z in the sequence

NOT

NaNO,+HCI
0°C

>Y
Cu,(CN),/KCN

C,H NH, > X

HOIH

1) CcH;CHO

2) C;H;,COOH

3) C(H;OH

4) C.H;CH,COOH

Which one of the following mo-
nomers take part in anionic poly-
merization mechanism during
polymerization?

10.

11.

12.

13.

Chemistry
Special/

I) isobutylene 2) vinyl chloride
3) acryolonitrile
4) Both 2 and 3

MnO, + HCI—— A ;

A(g)+F, (excess)—2% B,

B()+U(s) = C(g)+D(g);

The gases A, B, C and D are
respectively

1) Cl,, CIF,, UF, CIF

2) O0,, O,F,, U,0;, OF,

3) Cl,, CIF, UF,, CIF,

4) O,, OF,, U,0,, O,F,

The rate constant, activation en-
ergy and the Arrhenius parameter
of a chemical reaction at 25°C
are 3x10~ sec , 104.4 KJ mol~!
and 6.0 x 1014 sec™! respectively.
The value of the rate constants as
T — oo 15

1) 2 x 1018 sec™!

2) 6 x 101% sec”!

3) Infinity

4) 3.6x 1030 sec™!
Which of the following
example of autocatalysis

1S an

1) Nz(g) T 3flz(g) 2NH3(g)

2) ZSOZ(g) + 02(g) —HZSO%)

4) CIZHZZ 011 (aq) + H2 O(ﬂ)
C6H1206(aq) + C6 HIZ 06 (aq)

The correct sequence of reactions

to be performed to convert ben- |

14.

15.

16.

17.

18.

zene into m-bromoaniline 18

1) bromination, nitration, reduction
2) reduction, nitration, bromination
3) nitration, reduction, bromination
4) nitration, bromination, reduction
Which one of the following
substances cause more hardness
when dissolved in equal amount
of substances in 1 litre water

1) CaCl,

2) CaCO, 3) Ca(HCO,),
4) CaSO,

Neglecting the Vander Waals

constant (b) value for four gases

A, B, C and D having their

critical temperatures in the order

Ty >T>T, > T, then the order

of their liquefaction pressure at a

temperature T (T < TC) will be:

1) P, <Py <P-<Pp

2) Py <Py <P, <P

3) P <P, <Py <Py

4) P <P-<P, <Py

Which of the following is true

about the complex [PtCl,(NH,)

(H,O)]; [Atomic no. of Pt = 78]

1) It will have two geometrical
isomeric forms

i1) The hybridisation state of
Pt(I) is sp°

i11) It is a square planar complex

iv) It is a diamagnetic complex

v) It can show hydrate isomerism

vi) It is a tetrahedral complex

1) 1,11, 1v 2) 11, 1v, v

3) i1, v, vi 4)1, v, vi

In a crystalline solid AB,, atoms

of element B form ccp arrang-

ement where atoms of element A

occupies

1) 33% of tetrahedral voids

2) 33% of octahedral voids

3) 66% of tetrahedral voids

4) 66% of octahedral voids

Na dry ether

onemoleCl
25 A

C,H, -

anhydrous AlCl ; HC]

> B

>C;B& C are
1) Tautomer's

2) Positional isomers

3) Geometrical isomers

4) Chain isomers

20.

21.

22.

23.

19. Depression of freezing point of

which of the following solutions

does represent the cryoscopy

constant of water?

1) 6% by mass of urea is aqueous
solution

2) 100g of aqueous solution con-
taining 18g of glucose

3) 59¢g of aqueous solution cont-
aining 9g of glucose

4) 1M KCI solution in water.

Which one of the following

statements 1s false

) Plaster of paris is a hemi-
hydrate of calcium sulphate
obtained by heating the
gypsum above 393K.

2) Sodium carbonate is used in
water softening.

3) For a good quality cement, the
ratio of silica to alumina
should be between 2.5 to 4
and the ratio of lime to the
total of the oxides of silicon
aluminium and iron should be
as close as possible to 2

4) CaCO; is used as
abrasive in tooth paste

The weight of H,O, present in

80mL of 10V H,0, solution is

1)3.2¢g 2)4.2¢g

3)2.4g 4) 3.6g

1.216g of an organic compound

was reacted under kjeldhal's

method and the ammonia
evolved was absorbed in 100m/
of IN H,SO,. The remaining
acid solution was made up to

500m/ by addition of water. 20

m/ of this dilute solution required

32 ml of N/10 causitc soda

solution for complete neut-

ralization. Calculate the % of
nitrogen in the compound.

1) 56% 2) 23%

3) 66% 4) 43%

If 50% of CO, converts to CO

at the following equilibrium

Ci)+CO,(g) =2C0 ) and the

equilibrium pressure is 12 atm,

calculate Kp.

1) 16

3) 12

mild

2) 8
4) 4
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8. 2; x = benzene diazonim chloride; 14. 1; Degrecof Hardness = Ws  10°X100 2.2, %N-= xNx(V =V,)

1. 3; Energy electron in same shell for y= cyanobenzene; z = benzoic acid My W, wt of org compound
different atoms 1is different to| 9. 3; Where Wgy= weight of salt causing P2
difference in effective nuclear charge 10. 15 MnO, + 4HCI —=—Cl, (g }+ MnCl, + 2H,0 hardness 23. 15 Cy+0, =2C0 K :TCO

2. 4; H,C-C=N—L"%, CH COCH , Mg, = molar mass of salt :

Ethanenitrile P' ’ Acetone(2 moles) C 12( g)+3F ) (excess)% 2CIF 3( g) \WY% A— Welght of water C +0 32CO
OH (4) (B) 15. 2; easily liquefiable gases have high ()7 7 (8)
_ | ”» 1 0
dil NaOH _C— tical temperature
DdiNaOH__, (CH,),~ C~ CH,COCH , A cri P
(Aldel condensation) Diacetone alcohol (Aldol) 3CZ(I;3) DU ) === UFgq) +3CIF () 16. 1; Platinum in co-ordination number 4 1-x 2x
VHaH (o) C = CHCOCH (©) (D) forms squreplanar complex with dsp? Total moles = 1+ 0.5 =1.5 as x= 0.5
20 4—?\/Ie%hylpent1—3—e1(11e—2-one ’ 13 _Ea hybridization Partial pressure = Molefraction X total
Mesityl oxide * — RT — oo K = . .
(Mesibloxdo < K=Ae MasT=-K=A 17. 2; ratio of spheres and Octahedral voids pressure
3. 2; Peroxide effect is observed only with HBr 12. 3; NO, 8. /H.0 =1 : 1 for three B atoms only one A
. . . F Conc. HNO, + H,SO, 21772 o A — . — .
4. 2;1.P:Na<Al<Mg<Si 13. 4; @ e @ = 18. 4,A— chloroethane; B = Butane; ﬁas J EE MAI N [=] E-It
: . Benzene (Nitration) Nitrobengg(r)\?matlon]v C= isobutene :
5. 2 ATf - lem, 0.558 =ix1.86x0.1; H, NO, 19. 3; e Quick Review ¢ Bit Banks [=]
1=3 a= _i -1 oa=1asi=n=3 @\ Br "% @x ar 20. 1; veightof H.0.  volumeof Oxygen e Practice tests ¢ Previous Papers
n-— Reduction . 0, = - .
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